N

i
ap
[n
AlH
fto
1

=
|-
A
il

A+t EEE S @ 5 A B =
wa BEER @A) o as — = «sEms (22 A

L Multiple chowce { select one correct answer, 20 points)

1. The fiscal ar tudget deficit conttibutes to the trade deficit unless:
a exports are equal o imtports.

b. capital Flows are prohibited.

g. tarniffs and quotas are empicyed.

d. savings decline and investment increases,

2. savings increase and investment declines.

2. Attempts (o subsidize exports and tQ impuse tariffs on imports:

a. will be efticient ways of reducing the rade deficit

b. will have no impact on exchange rates.

c. will be generally offset by changes in exchanpe mtes.

d. will generally be effecttve because they can be supported by govermment actions.
e. will generully have ne impact on the domestic economy:.

3. The Gmamm-Rudman-Hollings Act implements:

4 automaltic increase 1n aX rates when a deficit is projected,

b. an annually tulanced budget procedure BXCEDL In emergencies.

c. ihe iine-item veto and an annually balanced budget.

d. amomatic and selective spending reduction plang.

€. automatic and acywss the board spending reduetions if planned expenditures exceeced
largets.

4. One of the mogt siymificant problems in the budgetary process is that
a 1f takes oo long.

b. po one ts (n charge of the entire budpet

. 1t 18 laced with partisan politics.

d. it is o general.

€. 1t does not matter.

5. One of the pomary criticisms of balanced-budget amendment proposals is that:
2 they eliminate discretionary flecal palicy.

b. they oflset the impact of the antomatic stabilizars.

¢, they negate the impact of monetary policy.

d. iris difficult to accurately mensure government expendifures and Lax revenues,
€. 1Lis drtficn]t 1o predict what expenditure are going m be.

&. The traditional view of the business cycle acgues that business cveles are:
a. caused by endogenoms factors.

b, caused by exogenous factors.

C. oot very predictabie,

d. generally random occurrences.

¢ cansed Dy government policies.

7. The hypothesis that changes in investment lead to changes in national income which lead
o addiional chanpes in investment is known as;

a. the Friedman-Phelps mode],

b. the Laffer curve modet.

c. the monetary rule impact model.

d. the discretionary impact model.

e. lhe muttiplier-accelerator moded,
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#. According to the new classical school of thought:
a chanpes in the money supply lead to changes in ourput.
b. chranges in the money supply o not affect expectations,

¢. coanges io the money supply lead only to changes in the price level.

d. government ¢an reduce market-based fluctuations.
e. the market system ig inherertly unstable,

“. All uf the Following would be consistent with the real busizess cvcle approach o policy

EXCEDY
a. fiscal policy has no impact,

b. a neninterventionist government approsch.
c. morctary policy is largely ineffecuve.

d. inftation bas no real consequences,

e. the economy adjusts relatvelv efficient)y.

10. If a monetarist were advising a government policymaker, his ar her advice would be:

a use [rscal palicy.

b do pothing.

C. USE MOonetacy poiicy.

d. implement wage and price controls,
e. InCrease government regularion,

11. Increases in the mte of inflation tead to cause:
3 decreases (n tax revenues.

b. increases in the value of savings,

C. 1pcreases in risk and uncertainey.

d. increases in the value o money.

e. reductions in the value of real asgets.

12. The inflatonary spiralis fundamenlally reiated te
a 3 pne-time demand shock,

b. inflationary expectaricns,

. a gne-time supply shock

. a one-time ipcreage in the money supply.

¢. a shift in the Phiflips eurve,

13. IF a supply shock causes the Phillips curve to shift to the right:

2 the economy moves toward full employment.

b. the rate of inflation increases.

c. the level of unempiovment declines.

d. the trade-off botween inflation and unemployvment improves,
e. the trude off berween inflation and unempioyment worsens.

14. Wneh country has the highest rate of patent appiications?
. Japan

b. {Germany

¢. Uniied States

d. Great Britain

e, Carada
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13- Which of the following would not be included oo an agenda for econamic growth?
a. reducing birth raes

b. simulating saviny

C. stimuolating investorent

d. inwesting in human capicad

£. stmulating technological changpe

Ii. Anatytical problems: (20 poinis}

1. Japan's primle minister Morhiro Hosokawa hammered outa $ 140 Billion stmulus
package that may not got Japan's economy racing but should keep it from mversing again.
The package, which inctudes a one-year cut in income taxes totaling S503 biilion and
much-needed aid for the nation's struggling banks, ouht 1 add between cae and two
percentage poinls of growth to the economy, analysts say.

4 The LLS. officials say it is hard to tell how much stimutus will resuli from a Japanese
goverament spending package. As U.S, experience fllusitates, a tax cut billed as temporary
15 lexs potent than a permanent cut Why?

b. Why is the United States interested in having the Japanese economy grow more rapidiy;
bow wiil it benefit?

2. Determined 1 preévent strong economic growth rom feeding inflation, the 1.8, Federa
Reserve rawsed short-tertn intetest rates in Nov. 1994 by the largest antount since 1981 and
left apen the possibilicy of further increases. Banks followed by raising the rates they
charege for Toans.

2. According to the Keynesian model, what impact would higher interest rates have on the
overall economy?

b. According to the pew classical theory, what impact would higher interest raics have on
the economy?
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